Congruence & Triangles

Congruent figures - one shape can become the other through turns, flips, and/or slides
Ham Sider & pgnegied-

AABC = ADEF. Find DE and m£B. Explain your reasoning.

A Complete the following to find DE. A
Because AABC = ADEF, there is a sequence 2.6 em
of rigid motions that maps AABC o ADEF, f s F
8 c
37em

This same sequence of rigld motions
maps AB m_g..._.t:

This means AB EE.

Congruent segments have the same length, s0 AB =

AB = ’1"1[;: , 50 DE = 1’\
C CHV
To find mZB, use similar reasoning to show that ZB = Lfi

S0, mZB =_&(L.

C. If you know AABC = ADEF, what six congruence statements about segments and angles ca

DE

you write? Why?

LA LD A, = DE
LBE=LE RAC = DF
LCZLE BLZEF

When two triangles are congruent, the corresponding parts are the sides and angles that are
images of each other. The congruence statements are made by matching corresponding parts.

ent Triangles are Congruent Theorem (CPCTC)
(oyve ‘,(‘tﬂ&{;w? i LU’A’ are congruent and

are congruent.
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Practice with CPCTC:

1. AABC= AprF Find ABand msE 2. AMNP = AQRS. Find NPand m£P,
o
A M
6.8 mm 15 mm
F r £ 1M.3m
g8 -
58 mm c 5 11.8m A
-— - s =
fB=3%vm  LE=D o= 1L.% A LP= 12
3. -
AJKL = ALMJ. Find JK and mZJLM, 4. AABC = ADEF. Find DFand mZEDC.
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' Congruences & Triangles

Wr
ite a statement that indicates that the triangles in each pair are congruent.

D DLEMIARBC 2) )ﬁPac E’A%YX

Complete each congruence statement by naming the corresponding angle or 5“’“

3) AABC = AABZ 4) AFEG = ABGD
D
E
F S
FE =9 C‘:'] "
&asw ASXY 6) AFHG=0RST WA\ (H( o2
' Q’{L
' ; F7H 5
G F - k
ST 27 £G=1?
Mark the angles and sides of each pair of triangles to indicate that they are congruent.
7) HABC = ABAT 8) AXTZ=AKLZ
r K
[ )
o b 7 i S o

10) AIKJ = ASJR ?wﬁﬂ&ﬁ' (o

NA |
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CPCTC and Naming Congruent Triangles

L Draw and label a diagram. Then solve for the variable and the missing measure or length.

(3] =0¥+7]
137 130 = 10X v 13

6"! {’_'j mz0= ‘izu

2. |f.:-.CGIl’=~3PfG m:l €O =25 CW =18, IG=23, and PG = 7x — 17 . Find the value of x and PG.

zs’ & / T-AT= (¢

/ e S
- PG= R
" | X=5]

3. IFADEF = APQRand DE = 3x = 10, QR = 4x — 23,and PQ = 2x + 7. Find the value of x and EF.

i

@ 1. If ABAT 2 ADOG, and m2B = 14, meG = 29, and m20 = 10x + 7. Find the value of x m20.

EF =
Il. Use the given information and triangle congruence statement to complete the following.
1. AABC = AGEO, AB=4,BC=6,and AC=8, What is the length of GO? How do you know?

g, ['\_3 = 45 fﬁ
2. ABAD = ALUK, meD = 52°, meB=48° and msA = 80°,

a. Whatis the largest angle of ALUK? / (A

b. What is the smallest angle of ALUK?

2L

sosceles. Is there enough information to determine if AHOT is isosceles?

Use ’l’V\Q\f e C Wkﬂi’ﬂt&u”*-f
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i. Complete the tongruence sta
are able to det

congruent, wri

te “none” in the blanks,

1. AEFD a 5_6&__‘}' g
oy S5 oy
SAS

aBcaa THC
by _ASH

A
B@c
T

Ppch

E
E

e

. AABC=A

b

i ¢ tement for each pair of congruent triangles, Then state the reason you
Ine the triangles are congruent. If you cannot conclude that triangles are

3. akm s ad £V
hvSS*‘ii w SF‘F% 4
L H"‘SH

| y__
A X A D
c & '
B ¥ B E

V.

Use the given information to mark the diagram and any additional congruence you can determine
from the diagram. Then complete the triangle congruence statement and give the reason for
triangle congruence .

B
2.
AN .
A D c
Given: z£ABD= sCBD, «£4DB = (DB

aa8p = 2. (B b BASA

v
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